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NEW QUESTION 1
Cisco DNA Analytics and Assurance allow users to automate network performance management in all of the following ways. Which is not true?

A. Simplify management

B. Gain network visibility

C. Save time, solve problems
D. Turn insights into

Answer: D

NEW QUESTION 2
Cisco 1000 series integrated services routers are fixed, high performance routers. Which is not a benefit of the routers?

A. Connectivity

B. Ease of use

C. Exclusivity

D. Comprehensive security

Answer: C

NEW QUESTION 3
What is a key benefit of Cisco's hybrid services for collaboration?

A. Customers can utilize conferencing solutions with Cisco Webex while retaining control of their collaboration services.

B. Cisco manages all collaboration services so a customer's IT resources can focus on strategic priorities.

C. Customers can choose multiple types of collaboration endpoints.

D. Customers gain the benefit of Cisco Hosted Collaboration Solution services while retaining ownership and control of their collaboration services.

Answer: B

NEW QUESTION 4
Cisco HyperFlex delivers complete hyperconvergence. Which of the following is not a feature of this solution?

A. Portable database applications
B. Flash-optimized system

C. Flexible scaling

D. High data availability

Answer: A

NEW QUESTION 5
Cisco aims to reduce their environmental impact as part of their green vision. Which of the following is not one of the ways?

A. Implemented over 100 energy efficiency and renewable energy projects in FY16

B. Improving product power consumption from plug to port

C. Used electricity generated from renewable sources for 77% of electricity demand in FY16
D. Reduce greenhouse gas emissions by 80% by FY17

Answer: A

NEW QUESTION 6
How does Cisco's web security appliance protect the organization?

A. file reputation during an attack

B. daily scanning of web traffic for anomalies

C. parallel AV scanning

D. automated monitoring and analysis across the network

Answer: D

NEW QUESTION 7

Cisco Intelligent Automation for Cloud software delivers the critical foundational layer for holistically deploying and managing cloud-based services. This software
solution improves agility, filexibility, and speed with all but one of the following:

A. Physical resources

B. An orchestration engine

C. Self-service portal

D. Advanced cloud management capabilities

Answer: A

NEW QUESTION 8
Cisco's certification and global partner network encourages and recognizes partners for their breadth of skills across certain technologies. Which of the following is
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not a Badge level?

A. Gold

B. Select
C. Silver
D. Premier

Answer: C

NEW QUESTION 9
A variety of factors drive the target state of the business. Which of the following is not a factor?

A. Values

B. Mission

C. Vision

D. Client engagement

Answer: B

NEW QUESTION 10
A business capability consists of which of the following to enable the long-term strategy of the business?

A. Security, enablement, experience
B. Technology, expertise, process
C. People, tools, experience

D. People, process and technology

Answer: B

NEW QUESTION 10
The Cisco Data Center captures the intent of users and applications. Which is not a benefit?

A. Enhance IT operations

B. Seamless multicloud mobility

C. Enhanced application performance
D. Pervasive security

Answer: A

Explanation:
https://cdw-prod.adobecgms.net/content/dam/cdw/on-domain-cdw/brands/cisco/intent-baseddata- center.pdf

NEW QUESTION 11
Cisco offers customer care solutions for contact centers. Which option is not correct?

A. Cisco Remote Expert Mobile
B. Cisco Inbound Option

C. Cisco Unified call studio

D. Cisco Outbound Option

Answer: C

NEW QUESTION 12
Which networks benefit from the consistent enforcement policies enabled by Cisco's approach to security?

A. physical, virtual, remote, and cloud networks
B. physical networks only

C. physical and cloud networks only

D. physical, virtual, and cloud networks only

Answer: A

NEW QUESTION 15
Which is a key benefit of Cisco UCS?

A. hardware-centric design

B. distributed infrastructure management
C. unified network fabric

D. integrated third-party applications

Answer: C
Explanation:
Which of the following is a key feature of Cisco Data Center?

A. software-defined segmentation
B. quick mitigation of threats that breach defences
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C. hyperconvergence for databases
D. seamless multicloud mobility

NEW QUESTION 20
In addressing the full attack continuum, what type of capabilities are required before an attack?

A. Preventive and Response
B. Preventive and Detective
C. Predictive and Response
D. Preventive and Predictive

Answer: A

NEW QUESTION 21
Which phrase best describes Cisco's software strategy'?

A. implement a build-and-fix software development model

B. identify and communicate risks

C. promote collaboration among in teams and organizational levels

D. use software and software-defined solutions to help customers realize more value from their IT investments across their organizations

Answer: D

NEW QUESTION 25
Which of the following are included on the Offering Pattern Reference Model?

A. offerings, routes to market, pricing schedules, and service agreements

B. pricing schedules, service agreements, routes to market, and opportunity paradigms
C. offerings, markets, pricing methods, location, and routes to market

D. offerings, pricing schedules, service agreements, and routes to market

Answer: D

NEW QUESTION 26
What is one benefit of the Cisco SD-WAN solution?

. continuous monitoring of the entire network environment in order to detect abnormal wireless activity

. establishing transport-independent WAN for lower cost and higher diversity

. supporting agile software development and deployment processes through a single point of management

. providing guest networks for customers, system integrators, and vendorsWhich phrase best describes the Cisco DX series?
. a service solution that offer business messaging, calling, and persistent meeting spaces

. a filexible and scalable platform for videoconferencing rooms :

. a mobile endpoint solution designed to connect learns at any time, in any place

. an all-in-one desktop collaboration device with an intuitive touchscreen
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Answer: A

NEW QUESTION 31
What is the negative impact of digitization on businesses?

A. Moving applications away from the web
B. Putting demands on the network

C. Making old experiences seem new

D. Increasing the security of data

Answer: B

NEW QUESTION 36

During which phases of protection would Cisco's Next Generation Firewalls be deployed?

A. after an attack

B. during an attack

C. before an attack

D. during and after an attack

Answer: A

NEW QUESTION 37

Which of these is one-step Cisco is aiming to take to reduce the company's environmental impact by the year 20227?
A. Cisco is aiming to run at least 35 percent of its global operations exclusively on solar power.

B. Cisco is aiming to use electricity generated from renewable sources for at least 85 percent of the company's global electricity needs
C. Cisco is improving product power consumption and aiming to increase system efficiency to 99 percent

D. Cisco is aiming to reduce greenhouse gas emissions by 15 percent from lis global operations

Answer:
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D

NEW QUESTION 38
Which statement about Cisco Unified Fabric is true?

A. Cisco Unified Fabric enables industry-leading, multidimensional scalability

B. Cisco Unified Fabric can only be used in LAN environments

C. Organizations must be in the cloud in order to benefit from Cisco Unified Fabric

D. Organization can trust in the innovative focus of Cisco Unified Fabric, allowing IT teams to focus on maintaining technology

Answer: C

NEW QUESTION 43
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